
SM3 7.3A answers 

1.  no triangle possible 

 

2.  𝑚∠𝐴1 =  ____41.2°______   𝑎1 =  ______8.1____ 

 𝑚∠𝐵1 =  _____59.5°_____  𝑏1 =  _____10.6_____ 

 𝑚∠𝐶1 = ______79.3°_____  𝑐1 =  _____12.1_____ 

 

 𝑚∠𝐴2 =  ____41.2°______   𝑎2 =  _____8.1_____ 

 𝑚∠𝐵2 =  ____120.5°______  𝑏2 =  ____10.6______ 

 𝑚∠𝐶2 = _____18.3°______  𝑐2 =  ____3.9______ 

 

3.  𝑚∠𝐴1 =  _____26.3°_____   𝑎1 =

 _____10.3_____ 

 𝑚∠𝐵1 =  ____138.1°______  𝑏1 =  ______15.6____ 

 𝑚∠𝐶1 = ______15.6°_____  𝑐1 =  ____6.3______ 

 

 𝑚∠𝐴2 =  ____𝑁𝐴______   𝑎2 =  ___𝑁𝐴_______ 

 𝑚∠𝐵2 =  ______𝑁𝐴____  𝑏2 =  _____𝑁𝐴_____ 

 𝑚∠𝐶2 = ______𝑁𝐴_____  𝑐2 =  ______𝑁𝐴____ 

 

4.  no triangle possible 

 

5. 𝑚∠𝐴1 =  _____45.1°____   𝑎1 =  ____37.5______ 

 𝑚∠𝐵1 =  ___32.7°_______  𝑏1 =  _____28.6_____ 

 𝑚∠𝐶1 = ______102.2°_____  𝑐1 =  _____51.7_____ 

 

 𝑚∠𝐴2 =  ___134.9°_______   𝑎2 =  _____37.5_____ 

 𝑚∠𝐵2 =  _____32.7°_____  𝑏2 =  _____28.6_____ 

 𝑚∠𝐶2 = _______12.4°____  𝑐2 =  _____11.4_____ 

  

 

6. 𝑚∠𝐴1 =  ____25.4°______   𝑎1 =  ____5.4______ 

 𝑚∠𝐵1 =  ___55.0°_______  𝑏1 =  ____10.3______ 

 𝑚∠𝐶1 = ____99.6°_______  𝑐1 =  _____12.4_____ 

 

 𝑚∠𝐴2 =  _____𝑁𝐴_____   𝑎2 =  _______𝑁𝐴___ 

 𝑚∠𝐵2 =  ___𝑁𝐴_______  𝑏2 =  ____𝑁𝐴______ 

 𝑚∠𝐶2 = _______𝑁𝐴____  𝑐2 =  _____𝑁𝐴_____ 

 


